GSSSB Senior Clerk (Advt. No. 98/2016-17) Question Paper (13-08-2017)

AGEUHS HIE By qoedl Wl [Eseu e L. Series: C
1. I cannot to your request.
(A) axcid (B) acseed
(C) accede (D) exseed

Wl gL sl Ut widl gaopl sgan sl AR WS g5 2L R GRL 58
S1EHL sy seL 2l?

(A) 23724 512 25 evFen (B) SrzzAnAddas $12 §R sy[Readla

(C) SrezArd sIEH-sH 512 swlRex (D) SrezAAd 512 512 sv(xeu

As2udl U2 quzidl 2eg 3R (Bureaucracy) Ao 58 ewnitiedl 2uel 97
(A) Sl (B) 3~

(C) dldla (D) -

A2 20 anugl ueed Rie 3u [Qsevaidl wnal.

Sl
(A) MR (B) &4
(€) sl (D) 3Q$

el vl wdl A ivaidl A 45 9. ofl 24 Ao vl Al 55
S B Aoy Al UM AvAAL AQL 2l G MRl 90w B, dl o v
ULELL.

(A) 20 (B) 25

(C) 30 (D) 3

Find the appropriate option for the underlined part :

He was reared by his uncle and aunt.

(A) grown by (B} brought up

(C) back-viewed (D) grew up
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7o

10.

11.

12.

el Medll/ deldl sRYL WgdlA wis Asulell o 20ls qsuA 4y Qe R 2ulls
250 AL UER &1L 58 Alerl 2HAUL Y13 7

(A) M=l ws oflal Alsy-l (B) Matil As2ud andz ofla eyl

(€ MartEl sua oflu Wyl (D) M-zl M @Rl Qlev-l

121 20al sl 491 2t wn-nsl A2l A seeudl.
(A) &L (B) AR

() lass (D) L

s qoiley WYL ofled detley WR eyetiAl Y[AGL S1L 2N S7

(A) SR (ds (B) *wer [As
(C) ed-2 (ds (D) ¥x3[3a [ds

vl 2el Mardl sl Ba 24 SRR Gerasail 204 87
(A) el el (@Rl ardll W Ran

(B) el gl 20 narilil i Baq

(C) Heieul 2uiedlAL @Bz

(D) 2uglstat nendll 8 sqgenL AL yasia

“Some poets are at least as great as Tennyson.”

(Change into superlative degree of comparison)

(A) Tennyson is greater than some poets.
(B) Tennyson is greatest of all poets.
(C) Tennyson is one of the greatest poets.

(D} Tennyson is not the greatest of all poets.

AlRrruiall Wi 53 s uR| 87
(A) SREIA-SHEIRY (B) Al - g5

(C) Mcds—2euedloty (D) Asaudny - (&3}

(3) SRC (C)



13. & a¥Hl A -l Gz, B Al st aN Wil G3R s2ql eell &l o ¢ld A, B $3di 9 oY
Wel gld dl, B -l sia-dl Gy 2.

(A) 19 ad (B) 29 oy

(C) 39 aM (D) 49 a4y

14. -l 29 =Assi qoy A =6

(a) Ruldzausdt 24 [Qgugiein (1) el s
R3] el gautadl [Run

(b) “AN AR [ARAA eqnl Ayl (2) A ¢
ECUGL A SE-L 2BUSIR AN
W 3.

(©) “Fals Brell Bl SAslddAl Heus 8. (3) WRSH
2L Mellg ulQsveusla 8.7

(d) deudli uell WRo@kd oadl  (4)  Aud 21 g5
WRAUREIAL (R

(A) d-1, b-3, a-2, c-4 (B) a-4, d-3, c-1, b-2
(C) a-3, c-2, d-1, b-4 (D) b-1, c-4, a-2, d-3
15. 3YSL cligsl syl AsAL s [svaumi 2udd 87

(A) YIrgroR (B) leRs181

(€) Ul (D) ™3

16. -3 20NE 210eAL WA 2O

Y1043
(A) o™ (B) MeuuEdIM]
(©) egdlle (D) cudleus

17. Give the adjective form of Enemy’.

(A) Enimical (B) Enmity

(C) Inimical (D) Enemical
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18.

19.

20.

21.

22.

23.

geadl Al eisiR Ggoerair glley s (vl »1d 7
(A) Al (B) o3y
(C) ARl (D) 2Ueie
Fill in the gap :
Oxygen : Burn :: Carbon dioxide :
(A) Isolate (B} Foam
(C) Extinguish (D) Explode
sastil s LA (Daqdid)l Wl s sul eus 2 WResR speraidl euni
Heleralld A sdnoul usts Al AL Aad?
4) s sand (B) suicud y-zll
(C) erdidl sad (D) »43=ie Aenell
AL 68UL Heddells (A nuld 4Rl 20174 o4 W@ g4l Agi-euad ust Ropygl
Y5 del sadud sl 20el?
(A) ARG wRPR (B) &2 sva3(l ARz
(C) il AlZsy-i-e uRradl (D) [Aza3lgt o
The moon has hid __ face behind a cloud.
(A) his (B) her
(C) its (D) my
AAlY AL Yoot 2A¢1 gl SRR WA dMQ W s el dl w1

sy (¢lReve) ezl el $417
(A) EHDUS -l B) cidluasud - sjbuoiA

(C) gElus ~ giellodA (D) *dIAAE - TenedA

() SRC (C)



24. eeslal WL U=l s34 saladl [@Qsey Al
(A) 2, 2dld, 2QuR, 2aax (B) 2ddd, [QRR, udla, 2dld
(€) dlet, 2idld, 2day, AldR (D) AR, 2iady, 2Adld, 2udld
25. D5 ARA Al Gz il yodi, A8l sreet ], Wil AL 9l wsl-l G4l AL

sreuiell sel ad wRai-l G-l el gl g sal Wl ¢ladl G WA 8.7 dl efEadl
sl Gz 3adl 27

(A) 18 (B} 20 4

(C) 24 oM (D) 32 «d

26. Sl [van sAse-dl AL Sl gL sard 2udl?
(4) @& v (B) @S di-d gxZhu
(C) @lé WB-2sied (D) Al scdd

27. The antonym of ‘Democracy’ is

(A) Autocracy (B) Presidency

(C) Theocracy (D) Secular

28. AL reg-l el Ad wel wdal @ar-isv-l (ealRAgll) Rsewisl Al

CHIE]
(A) r+airiledsd (B) AA+S+ag+is DL+t
(C) S+ S+8U+BAL+ A+ (D) A+S+6+o{+2Al+A+D

29. el sl el 2l Reruens puelldl wsr 4Rl ey s wilde gL
2017-18 = sl s Qe A<l 51€ 23 s2ed sl 2094 D7

(a) Asedluon, Falzal 2 ELle B) dlrisl, sQisvil 2 il

(€) ¢ldld, g€l 2 dluvisy (D) Faldal, AEA AR “AlelE

30. imtotril WAl Alsrjctd A syguel,
(a) ilulL A2 (B) UlAut

(C) slsdl (D) 3L
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31.

32.

33.

34.

35.

36.

37.

V2, 3, Y4 ui Wl W2 vl 589
(A V2 (B) ¥3

c) Ya (D) Gl sy UL &
Al sveuda glaziaiell ¢ s endld senal «2f?

(A) sysral (B) sy sla
) (Rl (D) Gl

Find the correct spelling of the word for ‘Generations’.

(A) Contemporaries (B} Contemprories

(C) Contamporaries (D) Contempraries

oMl 6141 cieiRgllA YURL 4Rt disuen 2 [Qaueu-dl el walisiedl G

21 el uzLdld 18 o sretl 2uell. 20 YRl sa1 ]l 2aanl 2ued)?

(A) 1987 (B) 1988

(C) 1986 (D) 1989

5209l AHA [RAR gL L0 A 208 7
(A) 5 Ml Al (B) 7 | Al
(C) 6 L A3 (D) 10 3L Al
TABA el $Ed-l usR WEl svguel.

(gt sl gen svdl,
(A) ccMlAgEd (B) ofcigEct

(C) Roius oydged (D) gcdisid

AvRAAAL HAM s ALRIMRAAL DUEHE 511 ¢ctl?
(a) €llzeus zue (B) Urd Hell

(C) sv2cid Uddll (D) (@A 2l

(7)

SRC (C)



38. The statue was with leaves of gold.

(A) golded (B) gilded

(C) guilded (D) goldded

30. &dlul Guzell 2usd Aol Al U avia sr{ln Ul A 2] starl wd 97
(A) d-$ sld (B) 2l $1d
(C) 2R 514 (D) = 514
40. el M5 [Aseuniddl 20el.
w5180 et vl dl 2l a2 ule
(A) BB (B) €l

(€) sRolla (D)

41. GUI i - 3 97

(A) Graphical User Interface (B} Geographical Use of Internet

(C) Giga Uses of Internet (D) Graphics Unlimited Interface

42. dlsvail 5286 v MR- B Al ABU 251 Bz AU L4 udal sl

el ¢ddl?

A) dlayd (B) niAze:

) ol (D) [Greld
43. He is blind. He can see with __ of his eyes.

(A) neither (B) either

(C) both (D) any

4. yR=ud s Rl 2 cudo! dt B vel Adl L. AL RHBd A ergudl.
(A) oL 5. L5 B) [Ale ~all

(C) HSIE €A (D) sv¥=l MI8S

SRC (C) (8)






51. A, Bl 150% ©. B 2 (A + B) -l ¥2dl 251 2ux?

1

() 332% (B) 40%
(©) 66%% (D) 75%

52. 1A 2l disHiell 2uila BafasiyeAl sk seendl,
LBl Wi Sds AR,

(A) &HAUS (B) SRS

(C) FAUNYIUS (D) AHHARS

53. [AuAAGUML UASIN E3UUA URIREUA M Yl slet AL widl 237

(A) v MEA B) sz

(C) el il (D) Hou wflasil
54. They a new business for five years.

(A} have been starting (B) have started

(C) started (D) did started

55. ‘dsvalc et sy A8l 2L S (i s2e0nl 2084 B9
(A) 1996 (B) 1998

(C) 1994 (D) 1999

56. ‘A 2 E 3 yug, ail o 1llal RER" sl usvs A svul.
(A) MS3E £ (B) [RRsyr oo1d

(C) N HR™ (D) [a-le szl

57. 5% wellewou 10 (@22 g4l 32d 100% g §4 GAzewedl 2% welleud) g4 wa?

(A) 5 [&er B) 7 Re?
(C) 10 [@e? (D) 15 [&2?

SRC (C) (10)



58.

59.

60.

61.

62.

63.

64.

S aoert siRsdl @A WA e s »REE A il s BRiRed
Astl 531 edl?

(A) adlex (B) ollsdt
(C) ™A~ (D) sAM-R

you informed me, 1 would have come to receive you.
(A) If you had (B) Have

(C) Were (D) Had

Weglsicl e lerel eveul,
(A) AL (B) Metad-oull
(C) MM (D) Hetddlll

Sl gzl vl 3000 BAamel ay dsA dusdl SyAbUA e (Guag)d
2ol Rl el 2l 2 Guated At sveul,

(A) GSAT-19 (B) GSAT-MK-3
{C) GSET-19 (D) GSLV-MK-3
The teacher the students on the bench as they had not

done their homework.

(A) makes; standing (B) made; standing

(C) made; stand (D) make; stood

syl sl dvau el

(A) 751 (B) 734

(C} 981 (D) 853

A 20 gL sl alsdl Ao dillavsA Rsentidl il
@z dd dl Ad. suiell . 8 «8.

(A) uel, ¥2d (B) dl, 48

(C) sAdl.. 4 (D) 2iMal, HiR

(11) SRC (C)



65. When I was a child, I under this banyan tree.

(A) were playing {B) have been playing

(C) had been playing (D) were played

66. valct sl WL [vaun Al gl lvanal A s (raudl g 2usldl 12l
(A) izl (B) 2UgiE

(C) ®lel Gy (D) xR

67. 192041 svzid [Qedls 2l wan s\l clPiaml uz el 2udl)
(A) R dlqoud e (B) s deiledid MRIMLE

(C) “iilRer Maeldld 2 (D) SLIEALMLES A&l

68. Al sl SISIURA SIAASR syrHRaU0 eQUIcll.
(A) Rl (B) [RiAR
(C) UcliaL (D) 2uelld

69. 18 s1MERl 10 Rl 900 Yrdsl «if 8. dl 12 Raddl 660 Yasl wiasl dewl
SIMER =S

(A) 22 (B) 14
(C) 13 (D) 11

70. At 9:00 a.m. tomorrow, I in a bus with my parents.
(A) will travelling (B) will be travelling
(C) will be travel (D) will travel

71, UsrRAAAL BEYR AR vid 53 RUE 2094 B)
(A) [ goulert 2N (B) HSRisd AUU5HULS BRWE

(C) Rl Ry 2418 (D) HSIRLSU Melly AL
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T2.

73.

74.

75.

76.

7.

78.

43 2xdL 28aE  eedeuidl Wl [@sey Al
(A) iog - 3¢ (B} 2uolg - 2014}

(C) S - vl | (D) S - HAlBisal

A HY sReRR ABUR A GuUR el e vidl € R HHAL il slel A 87

A) el svred (B) dlsaueu-l ueunld

(C) ClRetrAl 3y ~eiedley (D) e eell urfasil

geuAL Ac aetselll B R GRL UM B,

(&) “fegrlass (B) dygul<i™s

(C) HeH2lsy (D) HAUFL

You permission of your parents before taking such an important
decision.

(A) should have seek (B) should sick

(C) should have sought (D) should have saught

widsiz-l usR [Asewniell el ¢
WL ended, uz?y udl 21y,

(a) G B) s

(C) *aM (D) cAlsrai(a

Bs 26 2 AzdbiAl dens Wt B, ol 90 Bl /sasl 260 2B ‘@esliA
1 BRzai war 52 8. QL asqdl deud deal ez Qu?

(A) 500 | (B) 600

(C) 750 (D) 900

sy Ul 2L 4R SR 20l?

(A) 15 22, 1950 (B) 31 A, 1950

(C) 26 =a=y2Rl, 1950 (D) 15 WA, 1950

(13) SRC (C)



79. »de [RBcul wgla 4f dis-2ellgd oriaan Aed WsRAL 202 2 sesl Qoo
g1%l 4 200241 s4L ol AL s 2uell B9

(A) 2psvRlct ANER Rudert ol (B) 2svalc AN - a4xuQ ol

(C) vl 2AlNell gzl ol (D) et Azl el ond

80. I3 galdd =ssi doy {la Q) :

(@) “gd Bradl (1) %%

(b) SLAAEIN i8R (2) &8s (Raulonwl

(c) RUASVIL MM (3) 2iEd

(d) >REIUR WARER 4) BRI

(A) b-4, a-3, c-2, d-1 (B) a-3, b-2, c-1, d-4
(C) c-1, d-2, a-4, b-3 (D) d-3, c-4, a-2, b-1

81. Select the most similar word in meaning to ‘Vulnerable’.

{A) Risky (B) Challenging

(C) Insecure (D) Promising

82. dlerail etka-dl sl Al A2-goud el gl vEl ysdd oA sedlsl B &
I AL HERLAL S 2UHA S D7

(a) aldl - ulEa (B) szt - =0vaR
(C) v - Bl (D) Ak - Brs
83. -Aldl uRAA dzg 14 ez wedl d-dl svuell cusy wnis @ 14 fex A B A ul

stofl arg 10 lez wd 9. s2ladl d el siell drs 14 ler A B, Al A Al wiEs
il 2ol 2oL dzdl ez 2R 87

(A) 10 ¥lex (B) 24 ez

) 28 ez (D) 38 Hlez

SRC (C) (14)






91.

92.

93.

94.

95.

96.

97.

Find the correct spelling for a respiratory disease.

(A) Neumonia (B) Numonia

(C) Pneumonia D) Pnumoniya
Y

Yy elaisik U S sv=n2un syQual.
(A) Qe B) Usvdluoun

©) [RiR (D) -A[3uiE

SR Bl 2R 2 udl s [vasi 2udg 97
(A) il (B) 3y

(©) Al (D) 49E3lL
AsrRic-] MUN A AR S UHHUAL WS QAR s [ ¢q?
(A) 1993-98 (B) 2000-05

(C) 2002-07 (D) 1995-2000

1431 AL M 2.
(A) 43 (B) 47

(C) 42 (D) 37

Al 20 csmial iBa Qe usR seeudl.
s49l $13dL AlA oud.

(A) SRS (B) 2ABAUAS
(C) MMLLLAL™S (D) eUedl™S
Pintu is an child with a violent temper.

(A} obedient (B} obstinate
(C) honourable (D) obeying

SRC (C) (16)



98.

99

100.

101.

102,

103.

XML 43 ™ 2| 97

(A) Extensible Markup Language (B) Extreme Memory Language

(C) Extensible Memory Line (D) Extra Markup Language

ey Al stRse 2l AR 2erun s srdell szeui 2udl?

(A) 1969 (B) 1963

(C) 1967 (D) 1965

A2 A el 20 uos Ry ueedl Wit 4ol A segudl.

(A)  ACHESL (B dell@a

(C) »i2slot (D) &9

239 youadll Aol ABCD........Z 4l $1ofl cisg-it B2l 1831 241 svagll cuisg-it Bl
L HOUER-L GRIGR Ml sl YOUER w1

(A) P (B) S

(©) 2 Qseuinizll 518 Al (D) 818 yousz <l

Find the nearest meaning of ‘Embrace’.

(A) Exclude (B) Throw out

(C) Turn out (D) Include

sevatd sl oAl sl Revuoud 3wielldl usatt s 3naell Aeleud-2017 -l
E6L 4L Al sul?

(A) Asvdl digsl (B) 2RALSL cigsl

(C) MLAE cugsl (D) AAYR cigs)

(17) SRC (C)



104. UR§ oAl @ ga elea Bl un -

(A) 2adl B) sadl
(€) wadl (D) ostadl

105. is a word which expresses some sudden feelings.
(A) A conjunction (B) A preposition
(C) A noun (D) An interjection

106. 204 AR ol B34 29 510 sl Al £8 D7

(A) IMPRESS (B) WRITER

(C) CALC (D) (&), (B}, (C) AerHiddl AAsugl €[

107. SR 0l Bis sl Qal 2uey 87
(A) el Fourtl [Aeva reorid] (B) cuRterdli 2udal w1 rdeiyl
©) svelrenal Hol dig el (D) sgetvizAl 2R0s lenduisl

108. & «isl.
o+ 20+ GY + 2

(A) LML (B) uluidl

(C) u2didL (D) UPUGMUIDdL
109. Ours is a school.

(A) girls (B) girls’

(C) girl's (D) boys

110. fud-l 345 olall Gt 10 AL 8. dd oueld dxiell 1 AL eyrall
alutlal el 251,

(A) 2000 (B) 8000

(C) 6000 (D) 5000

SRC (C) (18) MaruGujarat.net



111.

112.

113.

114.

115.

116.

117.

gra(QAnl A s3q 20l 3 ©7

(a) reuglis
(C) H5d

(B)

(D)

sY &R

REIEICY

GHRISR s2l®l il 2euizHl Sl sidgel s sall &7

(A) s

(C) el

(B)

(D)

AEUL A2 ULE SUL AsHUL 2ed 87

A)  [@ywa uga

(C) sWlies

My uncle lives in the

(Use the proper form of ‘nigh’}

(A) next

(C) near

(B)

(D)

house.

(B)
(D)

AT |

EEMARIH

DAL

RUsyAULA

nigher

nearest

SAUE Algsl Aerald st st [l 2uda 87

(A) AMELSE

(C) e

A[E Bl
B4t

a) (g +

(C) [ + 4

UG 2L

g2 y7 2 gl
4 12 15

@ 1maL
20

(C) 8 17
20

(B)

(D)

(B)

(D)

(B)

(D)

(19)

Wl

Y812

['B-LE+-I.

(g +

17
20

1137

20

SRC (C)



118. £Ra8 widler dad Ggoauq 2uldude s (el 2udg 97
(A) sAHAIR (B) o3
(C) HMUEIAIE (D) 2AviE

119. Both the tiger and the leopard are cats; the former animal is much larger

than the
(A) later (B) letter
(C) latter (D) laiter

120. 3[eMxo-L w2l el

Alg 244
(A) QUR A €l (B) ™ ud
(C) g™ ug (D) 53534 53l

121, 2UlY AUAcAL Aot 2AREL gell. S0 WId QUEl 3 53 20 MBU=L L A8l
AR 2zl vicdey (sRev) WRenAl 20820 s291 AMA 2 M S8 sl 5317

(A) Me-Plwd 2wl (B) 2Yddld §%3
(C) Daeldld elzrer (D) Ayl 20ma

122, disvaR™dl [Qeanl A Bl 2084 s SRl Ams sz olpor/zs ollae gL 2udsl
$HAl S0 2, ¥l 215 [RET ARIRAR et p1caL, 24t B2 AL svQuel.

(a) qsl (B) 2iseil[AzalA
(C) 9218 (D) [zl

123. ABCD UL (A5 Z=26>) YU aldi Y+Z =X, W+X =T 2d W+Z =V € dl

T+U =
(A) D (B) N
(Cy Q (D) P

124, 2levidl ol 2= ot v okl A ML el el wadl A4 wzandl wRsu A9 dldl

¢dl?

(A) 3 (B) N

(C) EAMcRIA (D) MM-E
125. Rama is ______ than prudent.

(A) as brave (B) braver

(C) braverer (D) more brave

SRC (C) (20)






133. 2ferlc U™l [Pl ofld su1 afell 2RRca] )
(A) 1970 (B) 1974

(C) 1980 (D) 1985

134, ueu- Rld el agelladl 200 g 22-0A Y3l s 2ued dedl 2wy @bl 87

(A) 47 AS~S (B) 58 As~S

(C) 52 As~$ (D) 62 As~s
135. friends he has are all poor.

(A) Few (B) A few

(C) Fewer (D} The few

136. WHIEH UL S1c9A2AS svuiell.,

(a) due (B) >lRsy

(C) wtHell (D) ¢l ¢adl
137, 3§ vyl g ARUAL 60% Sl 36 HOAL S, Al d v 2L

(A) 80 (B) 100

(C) 75 (D) 90

138. il 2uzid el 12 8 usiRlld szl syasier 87
(A) cllateRe{lM yR1ad- (B) izl agletaq

(C) “Rled- (D) Y&t 2ldls wriad-

139. 3svRicl Asetil 298l bvaud 1A sl Grausll 81 s randl ge vusidl -7
(A) séle (B) “isl

(C) AUUARSISL (D) uélmer

140. Vgl sisell 04l
(A) ulR2ulxsi B) 4RREe

(C) ellsrell (D) SRR

SRC (C) (22)



141.

142.

143.

144.

145.

146.

147.

148.

He was Napoleon of his age.
(A) =a (B) the
(C) an (D) none

Aevalel sl A Al ARAnsus wRa g1 dlsvazl [Qen-ieunl 2sg sanil 2udd
weve 2017-18 2=ad Al Buus 3z Gzl ¢did ARl A 21 cigAlHl At
Bardl Fect 25t A1 avai-dl iR sl 2udd 97

(A) 3% (B) 2-75%

(C) 2% (D} 2-5%

o GLARE 20€d 67810 $l¢ -oR sikl sulaedi 218 2 MONSOON 2U%EA
2305339 515 &IRL €alacdi 21 dl RANSOM 2UeEA &4t 818 gL exulell asi?

(A) 183952 (B) 189352

(C) 189532 .[D] 198532

AR AU UCEAL AR 2L

A= [R4e
(A) AcR™ (B) Gwue
(C) $MeRy (D) ss

YRR 3sHadl A8l BAR 208a 2enant R Qs s fvad 20ag 87
(A)  “-lusist (B) UIHRS18EL
(C) &% (D) MRUiER

Find the nearest meaning of ‘Devour’
(A) Came off (B) Eat greedily
(C) All types (D) Eat crowdly

WL A2 56 AN UL ¢cdl?

(A) 1920 (B) 1917

(C) 1915 (D) 1930

s WRAsR uBsn el BuAdl wras g il et Wil Al deir
54 87

(A) HeRI™ (B) 4o o

(C) 2dldd A28 D) 2yedlz Aladl
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149. © 42 5 WA APIEAL W WM B A A 2 2, 4, 6, 8, 10, 12 Asrsrdl HHAIR
4l . 30 Hlleni A va e dedlar s QL)

(A) 4 (B} 10

(€ 15 (D) 16

150. oiiRaAl 3w %eell sz, At sveudl.

(A) 2. a. g1adl (B) dl. 2. ud
(C) -=dlw Al (D) 2. A, w6

151. The chief, with all his subordinates, massacred.
(A) were (B) have been
(C) was (D) are

152. 25131 M512 [Rseymial el
WL A 8 QA AR HA Gladl A wusedl A 2s wsil Ul S,

(A) aRieus (B) 6w

(C) sragd (D) cufks

153. 3rll] nARat €g 2 da usirl uslu 87
(A) Rsvsly B) adladl
(€) uilsys (D) SAEIS1A
154. 2svRict el Yol ol Qerdoud 3welll sk gL ey sl 209d ey

2017-18 =¥l 4| (SRl Wi vabu 2ezisy WAL Al usiEl WdRsRs sidsy
U3 4Rl LRl 2y, D7

(A) EI8lE B) dlast
(C) »Rrudl (D) €ldld
155. 245 MG WA 32dis Rl 2 oudl 8. o -l v 48 €l 2 wadl v 140
S ) el 2w Sedl §7
(A) 22 (B) 23

(C) 24 (D) 26

SRC (C) (24)



156.

157.

158.

159.

160.

AR 2 sdadAl w2l [Qsey Q).
gell 2ux-l did et il

(A) el 2lley AL W ™ D
(B) g2ll cum s wglausdl -l
(C) 5WMEL SAAAURL BN WL Ul dey

(D) &80l sux ga 2udl &l

Such a decision would not be kind even
(A) were (B)
(C) is (D)

if it just.
was

will be

7341 HURGL YURIML B2l HAAAR Sl W2 AvElY UM MU Ed °S?

(A) Uil (B)

(C) 214 syrAmi[ail (D)

Aevlet YRARIZIAL AdHi gadlad A sesudl,
(A) SU [uiyy s (B)

(C) SL vl (D)

A2 gidd sassi Qoy {ld sl

(@) MHl-E (1)
(b) 2WHA 2)
(©) s edyaz (3)
(d) 2leEH Al (4)
(A) b-2, a-4, c-1, d-3 (B)
(C) a-3, b-2, d-1, c-4 (D)

161. -{A 2uua Al yel s

3, 7, 23, 95,
(A) 62 (B)

(C) 479 (D)

(25)

AAY R QA

GuRlsd amd

SUL . WA, 2d
ST ¢dg (AQs)

SIRIEET
RIS
AR

L8

b-4, c-2, d-3, a-1

d-1, c-2, b-4, a-3

128

575
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162.

163.

164.

165.

166.

167.

168.

[ will find you, you go.
(A) whatever (B) wherever
(C) whithersoever (D) whenever

ol M51RML Slobizex ARevilez 4L [Qewot g1 Asunsdl 209 87

(A) Bzl 215 deu (B) B[R] 2y A-atzil-2
(©) RRARE 205 28l wedlla D) BAg] 2l €l 234
A3 A et AR W] s srgual.

Gela
A) ARl (B) UMEL
(C) 2wl (D) i(ex

ARAAriefl 541 @sed Control PanelMi sigl ¥l <7

(A) Sound (B) Mouse

(C) Display (D) My Account

werlnt sl apdl adl Dt welbd AR S0 arl 4R i sk
el 2wd?

(A) 3Ry (B) WA
(C) sARISS (D) $tedq
Forty thousand rupees a large sum.

(A) are (B) is

(C) were (D) been

AR 200 sl sHRIAEAL Rl [Asey 04l
wiled ofld AR ol 28l

(A4) g ofld uf oS R} O B) el ol AR =8 Wy B
(©) wieaual ofld W odd by (D) wlearqall ol e g 2deutl
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169. 3600 A Al -l 58 divan o eporaedl yelud 2ivan o7
(A) 9 (B) 50

(C) 300 (D) 450

170. AN AR SERL 2L o UellAL ddlae 20914 uBURAL 24848 Slol Sl 87
(A) ar [@Asit wBEQAL 3P (B) AR

(C) adiél (D) AGuUlsvs iy wRQAL 2eas

171, 2R oY 2018 i 2{luq S s 2 2l
(A) LR (o) (B) Szl
(C) - sl (D) Al
172. 4 WRsRA sy U8t neuR QUsvazim yaglues’ 2Anendl smdzia sul ous
AHGl 1 ugsL UlAAx 2i<fls1 s4l ¢dl?
(A) 2lR1Risz =Axl (B) srdd ulss

(C) YV Edld (D) el 2u-ig

173. Match antonyms :

(a) Cautious (1) Mar

(b} Abundance (2) Scarcity

(c) Fertile (3) Rash

(d) Make (4} Barren

(A) a-1, b-2, c-3, d-4 (B) a-4, b-2, c-1, d-3
(C) a-3, b-2, c-4, d-1 (D) a-2, b-4, c-1, d-3

174. GURAUL Ald Slnire Aderire 2NE1El (NDMA )L 321 s «bil szesi 2uel?

(A) 2007 (B) 2005

(C) 2003 (D) 2002
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182. 2UvAc UBIR K1 UHA AL AlEsIH M A9l 9.8l 2R, (GDCR) icsld 2s 3t
(Rl @y wisal (Rgld Qe »ucdl 3. 20 GDCR 3 87

(A) General Development Control Reforms

(B) General Development Control Regulations

(C) General Development Control Rules

(D) General Development Controlling Regulations

183. 9sralc sl W4l 2l [Qsvaond 3weldl s giR1 2y sl 203d iy
2017-18 a3 5N 241 ez [Qowar ' A ogdlAl g v srieciml 2ue 87

(A) 5[, HesR AA Vet st Qoo
(B) “s[¥, wypuad A uesik Qe
(C) Mg seBL 2 ugprua Qoo

(D) “§[ uesR 2 upua Qo

184. salcis A wEl A ellui 2oyl 247 Whls dl s8R AsesiR o A svouel.

(A) 2EA AAREAA ARl (B) R stelzd] sl

(C) 2rcetn wogaadl 4l (D) ects Wsaidl
185. water runs always deep.

(A) Still (B) Steal

(C) Stil (D) Steel

186. A £2ldd sAssi qoy d ML,
(@) oA dudlepudg @Quand ra-yasl (1) 20eis Gal
(b) SUAIAL GBR Wiz 3-g - slueL (2) $2© [l

(c) Al gRe1R2e MR odRlld-otlsed  (3) ousrr (el

(d) [ 2| WaR 2UA-YaREL (4) zsvsle [sval
(A) a-2, d-1, c-4, b-3 (B) d-1, c-4, b-2, a-3
(C) ¢-3, b-4, a-2, d-1 (D) b-3, a-4, d-2, c-1
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187.

188.

189,

190.

19 19

192.

193.

s il [Qanelidl qR GR 158 o 8. bl vlsildl w3 R 164 ad
2w Ol AN U 154 9l . dl ol Blell 27 Slsdl2AAl Gzl 2l
2LLELL.

(A) 1:2 B) 2:3

(C} 3: 4 (D) 3:5

A2 200 sl AsAL AR [Qseyw 2.

A v ®
(A) d-edl W & (B) d-dl wa weusl
(C) aa wasld 8 (D) A Westasl

ERa SR 2udg 3B a0 guu 2 (el 20ag 97
(A) A3d (B) dudl
(C) AUzl (D) ™33

A surveying instrument for measuring horizontal or vertical angles,
consisting of a small telescope mounted on a tripod is

(A) Geometer (B} Odometer

(C) Theodolite (D) Anvil

ARl Bl aru-y el Gulbril Qe dldllz (vvpaT) sl W
AlH sy QUL

(A) Voter’s Verification Paper Audit Trail

(B) Voter Verifiable Paper Audit Trail

(C) Voter Verification Paper Audit Trail

(D) Voter Verifiable Paper’s Audit Trail

Uil el gEarll MR el syuel.

Bau dudi-audi Zldl e 8.

(A) ®iclsEd (B) cd™itsEd

(C) elldrusga (D) [(AuslgEd

AL AvAR0AL RGN 136 B, ot Wddl 27 ol vl 2RldR 21 3 ol A &l
AuALAL RNTR 50 3 €l dl ofley v 2uel.

(A) 40 (B) 48

(C) 60 (D) 72
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194,

1985.

196.

197,

198.

199,

200.

AsvRLcl AsedHl 2UAA Y [sveud 20 aum (ARA) [rauaii-l g8 2l 87
B) dndl, ei3u, A4:Rl, el

(A)
(€)

QRS sion, andl, Blel Gy
ARl siot, el M3

(D) ®lel BBy, sidl, qas, andl

Celina Jaitley said to Alia Bhatt, “Had your father not discovered ‘zero’,
this budget possible”.

(A)
(C)

will not have been

would have been

(B) had been

(D) would not have been

s Adasausr Aene Hissdl glaq s segual:

(A)
(C)

g2 lausidl
2ldzlcul

seUEly sl A syl Bsel 97

(A)
(C)

104 SSRGS 2l gLSGleva
51044 WALBAUBS VA LEQlev

Vote and for me, please.

(A)
(€

cCanvass

canvaas

HIAUL sl sl

(a)
(b)
(c)
(d)
(A)
(C)

et
Ornithology
Anthropology
Physiology
Botany
a-2, b-4, ¢c-3, d-1
a-3, b-4, c-2, d-1

ARl 53 st Qe ©:

(a)
(b)
(c)
(d)
(A)
(€)

Uil 5320 ol Rl W gl
¢ el gL dR uR Adldl

g2z vl A M Glsdl 21
AL Fao uBE o il UL
a 2 d

c A d

MaruGujarat.net

B) *[asirsly
(D) Al W Ba

(B) $lold 2 €184y
(D) 20 24 e1fQlev-

(B) cenvass

(D) canvase

(1) Body

(2) Birds

(3) Plants

(4) Man

(B) a-4, b-1, c-2, d-3
(D) a-2, b-4, c-1, d-3

(B) bdd
(D) d

(31)
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